BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING & APPURTENANCES
TO SERVE ANNISTON SECTION 4
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO, 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MUPRHY
JANUARY 31, 2024
0390-2242 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

| 1) HCG LLC | \$989,936.27 |
|------------------------------------|----------------|
| 2) ICON GC LLC | \$1,100,000.00 |
| 3) DURWOOD GREENE CONSTRUCTION CO. | \$1,112,536,75 |
| 4) DACO PAVING, INC. | \$1,144,000.00 |
| 5) PRECISE SERVICES INC. | \$1,144,434,55 |

CALENDAR DAYS 55/65

KYLE T. KRAUS

134855

1/CENSE

S/ONAL E

I, Kyle T. Kraus, PE, hereby certify these bid tabulations to be true and correct

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF PAVING & APPURTENANCES
TO SERVE ANNISTON SECTION 4
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MUPRHY
JANUARY 31, 2024

| CON SOB NO. | | • | (0.2) | | | | | |
|--|------|-------|-------------|--------------|----------------|--------------|-------------------|------------------|
| | | | 1) HCG LLC | | 2) ICON GC LLC | | 3) DURWOOD GREENE | CONSTRUCTION CO. |
| ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| PAVING ITEMS FOR ANNISTON SECTION 4 | | | | | | | | |
| 1 ROADWAY AND LOT EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE | CY | 5587 | \$3.20 | \$17,878.40 | \$12.00 | \$67,044.00 | \$2.00 | \$11,174.00 |
| 2 ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION, COMPLETE IN PLACE | CY | 5587 | \$2.20 | \$12,291.40 | \$15.00 | \$83,805.00 | \$2.00 | \$11,174.00 |
| 3 HAULING AND PLACEMENT OF EXCAVATION IN ANNISTON SECTION 6, EXCAVATION TO BE HAULED AND PLACED ONLY AFTER GRADES ON SITE HAVE BEEN MET, NO MORE THAN 2,000 FT HAUL DISTANCE (INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND REAPPLYING OF STRIPPINGS TO FINAL GRADED AREA), COMPLETE IN PLACE | CY | 1300 | \$3.20 | \$4,160.00 | \$8.00 | \$10,400.00 | \$6.00 | \$7,800.00 |
| 4 6" REINFORCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE | SY | 11862 | \$44.50 | \$527,859.00 | \$42.00 | \$498,204.00 | \$49.50 | \$587,169.00 |
| 5 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE | SY | 13383 | \$4.40 | \$58,885.20 | \$5.50 | \$73,606.50 | \$6.00 | \$80,298.00 |
| 6 HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE | TON | 108 | \$349.00 | \$37,692.00 | \$350.00 | \$37,800.00 | \$30.00 | \$3,240.00 |
| 7 FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE | TON | 253 | \$115.70 | \$29,272.10 | \$160.00 | \$40,480.00 | \$140.00 | \$35,420.00 |
| 8 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE | LF | 1664 | \$3.70 | \$6,156.80 | \$4.00 | \$6,656.00 | \$3.75 | \$6,240.00 |
| 9 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE | ŁF | 5187 | \$3.70 | \$19,191.90 | \$4.00 | \$20,748,00 | \$3,75 | \$19,451.25 |
| 10 PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE | LS | 1 | \$12,375.00 | \$12,375.00 | \$8,300.00 | \$8,300.00 | \$12,000.00 | \$12,000.00 |
| 11 TYPE 7 ADA RAMPS, COMPLETE IN PLACE | EA | 6 | \$1,825.00 | \$10,950,00 | \$1,500.00 | \$9,000.00 | \$1,600.00 | \$9,600.00 |
| 12 REMOVAL OF TYPE III BARRICADE WITH LOAD TRANSFER DEVICE, COMPLETE IN PLACE | EA | 1 | \$187.45 | \$187.45 | \$1.00 | \$1.00 | \$10.00 | \$10.00 |
| 13 DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE | EA | 8 | \$16.90 | \$135.20 | \$15.00 | \$120.00 | \$20.00 | \$160.00 |
| 14 FINAL LOT GRADING, COMPLETE IN PLACE | LS | 1 | \$33,300.00 | \$33,300.00 | \$43,272.67 | \$43,272.67 | \$14,000.00 | \$14,000.00 |
| PAVING ITEMS FOR ANNISTON SECTION 4 SUBTOTAL: | | | | \$770,334.45 | | \$899,437.17 | | \$797,736.25 |
| PITTS ROAD LEFT TURN LANE ITEMS | | | | | | | | |
| 1 30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 83 | \$176.30 | \$14,632.90 | \$172.00 | \$14,276.00 | \$220.00 | \$18,260.00 |
| 2 SAFETY-END TREATMENT FOR 30° CULVERT, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 2 | \$2,420.00 | \$4,840.00 | \$1,900.00 | \$3,800.00 | \$4,500.00 | \$9,000.00 |
| 3 STANDARD PRECAST INLET, TYPE "D-1", ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$3,655.00 | \$3,655.00 | \$3,450.00 | \$3,450.00 | \$5,000.00 | \$5,000.00 |
| 4 REGRADING OF EXISTING DITCH, INCLUDING DEMUCKING EXISTING DITCH, COMPLETE IN PLACE | LF | 529 | \$9,55 | \$5,051,95 | \$8.00 | \$4,232.00 | \$30.00 | \$15,870.00 |
| 5 ROADWAY EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE | CY | 489 | \$3.20 | \$1,564.80 | \$8.00 | \$3,912.00 | \$30.00 | \$14,670.00 |

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 4 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 31, 2024 LJA ENGINEERING, INC. E. MUPRHY JANUARY 31, 2024 0390-2242 (9.2)

2) ICON GC LLC

1) HCG LLC

| | | | | 1) HCG | 1) HOG LLC | | 2) ICON GC LLC | | CONSTRUCTION CO. |
|-------|--|------|------|-------------|--------------|------------|----------------|-------------|------------------|
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| | ROADWAY EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE | CY | 489 | \$3.20 | \$1,564.80 | \$9.00 | \$4,401.00 | \$30.00 | \$14,670.00 |
| 7 | 2° HOT MIX ASHPHALTIC CONCRETE, COMPLETE IN PLACE | SY | 689 | \$30.40 | \$20,945.60 | \$29.00 | \$19,981.00 | \$50.00 | \$34,450.00 |
| 8 | 10" BLACK BASE, COMPLETE IN PLACE | SY | 689 | \$85.55 | \$58,943.95 | \$102.00 | \$70,278.00 | \$100.00 | \$68,900.00 |
| | 1" HOT MIX ASPHALTIC CONCRETE OVER EXISTING PAVEMENT (LEVEL UP), INCLUDING TACK COAT, COMPLETE IN PLACE | SY | 1905 | \$17,45 | \$33,242.25 | \$14.00 | \$26,670.00 | \$30.00 | \$57,150.00 |
| 10 | 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE | SY | 1011 | \$4.42 | \$4,468.62 | \$10.00 | \$10,110.00 | \$17.00 | \$17,187.00 |
| | HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE | TON | 7 | \$349.00 | \$2,443.00 | \$350.00 | \$2,450,00 | \$30.00 | \$210.00 |
| | FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE | TON | 16 | \$115.70 | \$1,851.20 | \$160.00 | \$2,560.00 | \$140.00 | \$2,240.00 |
| | PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE | LS | 1 | \$11,600.00 | \$11,600.00 | \$8,700.00 | \$8,700.00 | \$9,000.00 | \$9,000.00 |
| | INSTALL, MAINTAIN, AND REMOVE TEMPORARY TRAFFIC CONTROL DEVICES DURING CONSTRUCTION, COMPLETE IN PLACE | LS | 1 | \$6,555.00 | \$6,555.00 | \$1,500.00 | \$1,500,00 | \$25,000.00 | \$25,000.00 |
| 15 | ALL REQUIRED CONSTRUCTION PERMITS, COMPLETE IN PLACE | LS | 1 | \$5,065.00 | \$5,065.00 | \$6,000.00 | \$6,000.00 | \$3,000.00 | \$3,000.00 |
| 16 | HYDROMULCH SEEDING OF PROPOSED DITCH, COMPLETE IN PLACE | AC | 1 | \$2,645.00 | \$2,645.00 | \$2,350.00 | \$2,350.00 | \$2,000.00 | \$2,000.00 |
| 17 | TRENCH SAFETY, COMPLETE IN PLACE | LF | 83 | \$2.25 | \$186.75 | \$0.01 | \$0.83 | \$1.00 | \$83.00 |
| PITTS | ROAD LEFT TURN LANE ITEMS SUBTOTAL: | | | | \$179,255.82 | | \$184,670.83 | | \$296,690.00 |
| MISCE | ELLANEOUS ITEMS | | | | | | | | |
| | ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 1 | \$350.00 | \$350,00 | \$350.00 | \$350.00 | \$350.00 | \$350.00 |
| | EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | CY | 100 | \$39.40 | \$3,940.00 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 |
| | AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (114 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE | LS | 1 | \$9,000.00 | \$9,000.00 | \$3,500.00 | \$3,500.00 | \$4,500.00 | \$4,500.00 |
| 4 | 6" PVC IRRIGATION SLEEVES, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE | LF | 64 | \$46.50 | \$2,976.00 | \$28.00 | \$1,792.00 | \$40.00 | \$2,560.00 |
| | TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE | LS | 1 | \$7,315.00 | \$7,315.00 | \$750.00 | \$750 00 | \$100,00 | \$100,00 |
| | CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE | EA | 1 | \$1,985.00 | \$1,985.00 | \$100,00 | \$100.00 | \$1,500.00 | \$1,500.00 |
| | STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREEP SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE | LS | 1 | \$2,720.00 | \$2,720.00 | \$1,000.00 | \$1,000.00 | \$3,000.00 | \$3,000.00 |

3) DURWOOD GREENE CONSTRUCTION CO.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 4 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 31, 2024 LJA ENGINEERING, INC. E. MUPRHY JANUARY 31, 2024

| | | | | 1) HCG 1 | LLC | 2) ICON G | SC LLC | 3) DURWOOD GREENE CONSTRUCTION CO. | | |
|--|---|------|-----|------------|--------------|------------|----------------|------------------------------------|----------------|--|
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | |
| 8 EXTRA STREET AND TRAFFIC : ENGINEER), COMPLETE IN PLA | SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ICE | LS | 1 | \$900.00 | \$900.00 | \$350.00 | \$350.00 | \$100.00 | \$100.00 | |
| 9 EXTRA 4-INCH STRIPING (ALL C ENGINEER), COMPLETE IN PLA | COLORS), (TO BE USED ONLY AS DIRECTED BY THE ICE | LF | 100 | \$1.70 | \$170.00 | \$5.50 | \$550.00 | \$1,00 | \$100.00 | |
| 10 EXTRA RAISED PAVEMENT MA DIRECTED BY THE ENGINEER) | RKER (WHITE OR YELLOW), (TO BE USED ONLY AS , COMPLETE IN PLACE | EA | 50 | \$9.00 | \$450.00 | \$5.00 | \$250.00 | \$0.01 | \$0.50 | |
| 11 EXTRA FILTER FABRIC FENCE ENGINEER), COMPLETE IN PLA | (TO BE USED ONLY AS DIRECTED BY THE ICE | LF | 100 | \$2.80 | \$280.00 | \$1.00 | \$100.00 | \$1.00 | \$100.00 | |
| 12 EXTRA HYDROMULCH SEEDIN ENGINEER), COMPLETE IN PLA | G (TO BE USED ONLY AS DIRECTED BY THE CCE | AC | 1 | \$2,645.00 | \$2,645.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | |
| 13 EXTRA BROADCAST SEEDING, DIRECTED BY THE ENGINEER) | FERTILIZING AND WATER, (TO BE USED ONLY AS , COMPLETE IN PLACE | AC | 1 | \$1,350,00 | \$1,350.00 | \$650.00 | \$650.00 | \$650.00 | \$650.00 | |
| | (PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" ECTED BY ENGINEER, LOCATION TBD), COMPLETE | EA | 1 | \$1,770,00 | \$1,770.00 | \$950.00 | \$950.00 | \$800.00 | \$800.00 | |
| | (PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" ECTED BY ENGINEER, LOCATION TBD), COMPLETE | EA | 1 | \$1,590.00 | \$1,590.00 | \$900.00 | \$900.00 | \$600.00 | \$600.00 | |
| | PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" ECTED BY ENGINEER, LOCATION TBD), COMPLETE | EA | 1 | \$1,495,00 | \$1,495.00 | \$850.00 | \$850.00 | \$550.00 | \$550.00 | |
| | PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" ECTED BY ENGINEER, LOCATION TBD), COMPLETE | EA | 1 | \$1,410.00 | \$1,410.00 | \$800,00 | \$800.00 | \$200.00 | \$200.00 | |
| MISCELLANEOUS ITEMS SUBTOTAL: | : | | | | \$40,346.00 | | \$15,892.00 | | \$18,110.50 | |
| BIDDING SUMMARY | | | | | | | | | | |
| SUBTOTAL PAVING ITEMS FOR ANNI | STON SECTION 4 | | | | \$770,334.45 | | \$899,437.17 | | \$797,736.25 | |
| SUBTOTAL PITTS ROAD LEFT TURN I | ANE ITEMS | | | | \$179,255.82 | | \$184,670.83 | | \$296,690.00 | |
| SUBTOTAL MISCELLANEOUS ITEMS | | 4 | | | \$40,346.00 | | \$15,892.00 | | \$18,110.50 | |
| TOTAL AMOUNT BASE BID | | | | | \$989,936.27 | | \$1,100,000.00 | | \$1,112,536.75 | |

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF PAVING & APPURTENANCES
TO SERVE ANNISTON SECTION 4
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MUPRHY
JANUARY 31, 2024

| LUM | 705 No. | | 000 | 0-22-42 (0.2) | | | | |
|------|--|------|-------|---------------|----------------|--------------------------|--------------|--|
| | | | | 4) DACO PAV | 5) PRECISE SEF | 5) PRECISE SERVICES INC. | | |
| ITEN | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | |
| PAV | NG ITEMS FOR ANNISTON SECTION 4 | | | | | | | |
| 1 | ROADWAY AND LOT EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE | CY | 5587 | \$4,60 | \$25,700.20 | \$1.75 | \$9,777.25 | |
| 2 | ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION, COMPLETE IN PLACE | CY | 5587 | \$1.00 | \$5,587.00 | \$3.75 | \$20,951.25 | |
| 3 | HAULING AND PLACEMENT OF EXCAVATION IN ANNISTON SECTION 6, EXCAVATION TO BE HAULED AND PLACED ONLY AFTER GRADES ON SITE HAVE BEEN MET, NO MORE THAN 2,000 FT HAUL DISTANCE (INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND REAPPLYING OF STRIPPINGS TO FINAL GRADED AREA), COMPLETE IN PLACE | CY | 1300 | \$2.00 | \$2,600.00 | \$7.55 | \$9,815.00 | |
| 4 | 6° REINFORCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE | SY | 11862 | \$47.00 | \$557,514.00 | \$48.75 | \$578,272.50 | |
| 5 | 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE | SY | 13383 | \$3.00 | \$40,149.00 | \$4.25 | \$56,877.75 | |
| 6 | HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE | TON | 108 | \$345.00 | \$37,260.00 | \$315,00 | \$34,020.00 | |
| 7 | FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE | TON | 253 | \$140.00 | \$35,420.00 | \$135.00 | \$34,155.00 | |
| 8 | 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE | LF | 1664 | \$4.00 | \$6,656.00 | \$4.30 | \$7,155.20 | |
| 9 | 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE | LF | 5187 | \$4.00 | \$20,748,00 | \$4.30 | \$22,304.10 | |
| 10 | PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE | LS | 1 | \$12,936.80 | \$12,936.80 | \$12,500.00 | \$12,500.00 | |
| 11 | TYPE 7 ADA RAMPS, COMPLETE IN PLACE | EA | 6 | \$1,500.00 | \$9,000.00 | \$1,600.00 | \$9,600.00 | |
| 12 | REMOVAL OF TYPE III BARRICADE WITH LOAD TRANSFER DEVICE, COMPLETE IN PLACE | EA | 1 | \$1,00 | \$1,00 | \$100,00 | \$100.00 | |
| 13 | DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE | EA | 8 | \$18.00 | \$144.00 | \$20,00 | \$160,00 | |
| 14 | FINAL LOT GRADING, COMPLETE IN PLACE | LS | | \$18,500.00 | \$18,500,00 | \$26,000.00 | \$26,000.00 | |
| PAVI | NG ITEMS FOR ANNISTON SECTION 4 SUBTOTAL: | | | | \$772,216.00 | | \$821,688.05 | |
| PITT | S ROAD LEFT TURN LANE ITEMS | | | | | | | |
| 1 | 30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 83 | \$428.00 | \$35,524,00 | \$235,00 | \$19,505.00 | |
| 2 | SAFETY-END TREATMENT FOR 30° CULVERT, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 2 | \$3,250.00 | \$6,500.00 | \$3,000.00 | \$6,000.00 | |
| 3 | STANDARD PRECAST INLET, TYPE "D-1", ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$7,800.00 | \$7,800.00 | \$4,500.00 | \$4,500.00 | |
| 4 | REGRADING OF EXISTING DITCH, INCLUDING DEMUCKING EXISTING DITCH, COMPLETE IN PLACE | LF | 529 | \$23.25 | \$12,299,25 | \$22,50 | \$11,902.50 | |
| 5 | ROADWAY EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE | CY | 489 | \$42,50 | \$20,782.50 | \$1.75 | \$855.75 | |

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING & APPURTENANCES
TO SERVE ANNISTON SECTION 4
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MUPRHY
JANUARY 31, 2024

4) DACO PAVING, INC.

5) PRECISE SERVICES INC.

| | | | | 4) DACO PAV | ING, INC. | 5) PRECISE SEI | RVICES INC. |
|-------|---|------|------|-------------|--------------|----------------|--------------|
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| 6 | ROADWAY EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE | CY | 489 | \$42.50 | \$20,782.50 | \$3.75 | \$1,833.75 |
| 7 | 2" HOT MIX ASHPHALTIC CONCRETE, COMPLETE IN PLACE | SY | 689 | \$37.00 | \$25,493.00 | \$47.50 | \$32,727.50 |
| 8 | 10" BLACK BASE, COMPLETE IN PLACE | SY | 689 | \$125.00 | \$86,125,00 | \$130.00 | \$89,570.00 |
| 9 | 1° HOT MIX ASPHALTIC CONCRETE OVER EXISTING PAVEMENT (LEVEL UP), INCLUDING TACK COAT, COMPLETE IN PLACE | SY | 1905 | \$20.00 | \$38,100.00 | \$42.50 | \$80,962.50 |
| 10 | 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE | SY | 1011 | \$42.25 | \$42,714.75 | \$4.20 | \$4,246.20 |
| 11 | HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE | TON | 7 | \$1,00 | \$7.00 | \$315.00 | \$2,205.00 |
| 12 | FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE | TON | 16 | \$1,00 | \$16,00 | \$135.00 | \$2,160.00 |
| 13 | PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE | LS | 1 | \$12,300.00 | \$12,300.00 | \$11,500.00 | \$11,500.00 |
| 14 | INSTALL, MAINTAIN, AND REMOVE TEMPORARY TRAFFIC CONTROL DEVICES DURING CONSTRUCTION, COMPLETE IN PLACE | LS | 1 | \$24,200.00 | \$24,200,00 | \$17,000,00 | \$17,000.00 |
| 15 | ALL REQUIRED CONSTRUCTION PERMITS, COMPLETE IN PLACE | LS | 1 | \$2,000.00 | \$2,000.00 | \$3,400.00 | \$3,400.00 |
| 16 | HYDROMULCH SEEDING OF PROPOSED DITCH, COMPLETE IN PLACE | AC | 1 | \$2,100.00 | \$2,100.00 | \$2,500.00 | \$2,500.00 |
| 17 | TRENCH SAFETY, COMPLETE IN PLACE | LF | 83 | \$10.00 | \$830.00 | \$0,10 | \$8.30 |
| PITTS | ROAD LEFT TURN LANE ITEMS SUBTOTAL: | | | | \$337,574.00 | | \$290,876.50 |
| MISC | ELLANEOUS ITEMS | | | | | | |
| 1 | ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 1 | \$450.00 | \$450,00 | \$350.00 | \$350.00 |
| 2 | EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | CY | 100 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 |
| 3 | AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (114 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE | LS | 1 | \$6,400.00 | \$6,400.00 | \$8,750.00 | \$8,750.00 |
| 4 | 6" PVC IRRIGATION SLEEVES, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE | LF | 64 | \$60,00 | \$3,840.00 | \$55.00 | \$3,520.00 |
| 5 | TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE | LS | 1 | \$1,000.00 | \$1,000,00 | \$1,500.00 | \$1,500.00 |
| 6 | CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE | EA | 1 | \$1,000.00 | \$1,000,00 | \$2,000.00 | \$2,000.00 |
| 7 | STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREEP SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE | LS | 1 | \$9,500.00 | \$9,500.00 | \$2,500.00 | \$2,500.00 |
| | | | | | | | |

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF PAVING & APPURTENANCES
TO SERVE ANNISTON SECTION 4
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JANUARY 31, 2024
LJA ENGINEERING, INC.
E. MUPRHY
JANUARY 31, 2024
0390-2242 (9.2)

| | | | | , , | | | |
|------|--|------|-----|-------------|----------------|----------------|----------------|
| | | | | 4) DACO PAV | ING, INC. | 5) PRECISE SER | VICES INC. |
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| 8 | EXTRA STREET AND TRAFFIC SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LS | 1 | \$850.00 | \$850.00 | \$800.00 | \$800.00 |
| 9 | EXTRA 4-INCH STRIPING (ALL COLORS), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 100 | \$1.00 | \$100.00 | \$1,50 | \$150.00 |
| 10 | EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 50 | \$7.00 | \$350.00 | \$8.00 | \$400.00 |
| 11 | EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 100 | \$1,70 | \$170.00 | \$1.00 | \$100,00 |
| 12 | EXTRA HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | AC | 1 | \$2,100.00 | \$2,100.00 | \$1,000.00 | \$1,000.00 |
| 13 | EXTRA BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | AC | 1 | \$1,100.00 | \$1,100.00 | \$650.00 | \$650.00 |
| 14 | 12"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE | EA | 1 | \$1,400.00 | \$1,400.00 | \$2,700.00 | \$2,700.00 |
| 15 | 10"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE | EA | 1 | \$1,375.00 | \$1,375.00 | \$2,350.00 | \$2,350.00 |
| 16 | 8"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE | EA | 1 | \$1,325.00 | \$1,325.00 | \$1,925.00 | \$1,925.00 |
| 17 | 5"X5"X4" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE | EA | 1 | \$1,250.00 | \$1,250.00 | \$1,175,00 | \$1,175.00 |
| MISC | ELLANEOUS ITEMS SUBTOTAL: | | | | \$34,210.00 | | \$31,870.00 |
| BIDD | ING SUMMARY | | | | | | |
| SUBT | OTAL PAVING ITEMS FOR ANNISTON SECTION 4 | | | | \$772,216.00 | | \$821,688.05 |
| SUBT | OTAL PITTS ROAD LEFT TURN LANE ITEMS | | | | \$337,574.00 | | \$290,876.50 |
| SUBT | TOTAL MISCELLANEOUS ITEMS | 4 | | | \$34,210.00 | | \$31,870,00 |
| TOTA | AL AMOUNT BASE BID | | _ | | \$1,144,000.00 | | \$1,144,434.55 |